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N. B.: (t) All questions are cornpulsory.
(2 ) Makesuitable assunqpllipnq rnhercver necessary

(3) Answers to the same question rnust be

(4) Numbers to the risht indicate ry$.
(5) Dralv neat labeled diagrams wherever
(6) Use of Non-proqfammable calculators

Attempt unv three of the following:
Explain the types of transmission modes for

Discuss the advantages and disadvantages

What is Shannon capacity of noisY
'I'he signal-to-noise ratio is given as

theoreti cal channel capacity.

What are the different tYPes

Distinguish between data rate

A signal is carrying data in

bit rate is 1O0kbps, what is
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What is fragmentation? Discuss the three fields in an IP
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